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DAY 5 — Vertex Form of Quadratic Relations: y = a(x- h)? + k

Name:

1. For each of the following quadratic relations in vertex form, (i) state the transformations, (ii) graph the

parabola, and (iii) state the key features.
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2. Collect the following information for each quadratic in vertex form. The first one is done.

Transformations

Equation a h k vertex sy?:\(ir:\:tfry optimal value
y=-7(x+4)" +10 : Zfliiﬂf; S| o refta e up 10 (—4, 10) x=—4 y=10, max
y=2(x=3) =5 | Sheleh by ra‘caﬁJr 3 | e b "f)"::' X=3 |V

/i /)
(e Hechmn _ )/: ~/
—_ _ 2_ | \ F N '.'I X _:‘6
y=-3(x-5)" -1 ek 3 (‘}Cﬁ\ g do | o
Fleehis i
yeertfas |y |l el () | x| 0
?:- No _stn ) mgx
. 2 Cgmqoreﬁg-\w /fo g o ()\ . CJ/—’ y; —
y=%(x+5)"-3 by —; Obb“ 3 ) X ﬂ’w-f)
(RIS . _
o ' — | Ny
y=—(x+1)=5 et bt | Jown & C ) | x=-/ Yy =5
o Shekh / ok
. \ . ’ ~ 3
y=4(x-2)"-3 Sk L"/ (icéﬂ J DN 2, - x el Y ]
f m.y
2 %E/{ﬂd\ W T . - = 9
y=-3(x+5)"+2 ‘SJWJ*NW 3 (@P{‘ 5 uua Q , X~ -5 %M
el . Ny
y=-2(x—4) +1 S% H\ & Q‘-fO{}‘ % u'@ 1 f,l = é/ /]ZGX
=1l(x—4) +3 ) W [1 3 = ‘
y 2(x ) + long /g FW % . W / X % ’/}/],/?




